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EE 483/583 Antennas for Wireless Communications Quiz #7 (Spring 2025)
Name _KEY

Instructions: Open notes. Place answers in indicated spaces and show/indicate all work for credit.

An optimum LPDA has a directivity of 8.6 dBi and frequency range of 170-220 MHz. Find the relative spacing
o, scale factor 1, apex half-angle a (deg), length /1 (cm) of longest LPDA element, and estimated length of
shortest element /y (cm). Show all work on given figures. Let c =2.998 x 108 m/s in calculations.

o5 Figure 11. 13 from 4ntennas (2nd Edition) by Balanis
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From bottom fig. on next page w/ 1 & o -/, =031\

=0.31(136.273) = [,, = 42.245 cm
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Dipole Length (A)

42.245 cm

In=

[1=95.760 cm

o =_8.514°
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